the passage ?

Direclion (Q. No. 1 and Q. No. 2) : Read lha
foliowing Passage and answer the questions by
choosing the right oplion. F1¥E
Codrs -
Time is one of e
" O the most valuable resources
T"Eﬁ ave. yel many People struggle 1o manage
it effectively, In 1-:.‘r.day's fast-paced world,
students, prufessmnals and even homemakers
face numerous tagks every day. Proper time
management helps individyals prioritize their
actnrlies, meet deadlines ang reduce siress.

One of the key benefits of rmanaging time wisely
15 |_rnpr:-ved Productivity. When people plan
thea; day and allocate specific time slols for
each task, they lend 1 achieve mora in less

me, "*E_"E_’? creales a sense of discipline and
responsibility. - .

Moreover, effective lime management leads
o better wark-life balance, When tasks are
mmp_leted on lime, individuals can make space
far leisure, hobbies and family. This nol only

boosts happiness but also improves mental
f.rell-being,

However, poor time management can result in
procrastination, missed deadlines and increased
anxiety, Developing time management skills
requires practice and consistency. Simple
habits like creating to-do lists, setling goals, and
avoiding distractions can go a long way in making
each day more efficient and meaningful.

1. According lo the passage, how can individuals
start improving time management ?

A) By crealing to-do lists and avoiding
distractions

B) By working laster withou! rest

C) By watching motivational videos

D) By comparing themselves lo others
E) None of the above

2. Whal Is the main purpose ©!

A) To discuss ditferent profe ssmnsl

B} To explain th |

_G) To highlight the importance of fime
management

D) To promote the Use of

E) None of the above

g causas of stress -
digital planners

3. Fill in the blank with the correcl oplion.
What for breakfast 7

A} have you usually
B} do you usually have
C) are you usually having
D} do usually you have
E) None of the above

4. Choose the one word substitulion from the
five oplions given below.

:EJJEE A group of persons \ working on a ship or

E Teom ai rcraft

o —

A) Concert

B) Scar

C) Crew

D) Siaff

E) MNone of the above

5. Choose the rightanswer from the five oplions
given below to frame meaningful sentence.

Rama / garden / in / the / be / may
A} In the garden Rama may be.
B) May be Rama in the garden.
C) In the garden may be Rama.
~D) Rama may be in the garden.

E) MNone of the above

qugx fraem s (FMF) Enzﬁ_ﬁﬁrﬁ
foe TR T 7

@£ Where was the Future Minerals Forum (FMF)
4% 2025 held ?

s 3 smen 2 si Fd anifE fe gm

&A] FTATRA

B S

RPN mm e 020

VZ9

A) WERE, 3THH

B) ¥ uTEl, .05,
C) 2TE, Tl

D) franz, HHdl 3T
£) 3w & @ w7

A) Muscat, Oman

B) Abu Dhabi, UAE

C) Doha, Qatar

D) Riyadh, Saudi Arabia
E) None of the above

w7a a7 & Fraw #1 Tew g i
qEEE AR |

B) AT
) 377 FFia q=FA
D) e g
E) 3w § & &ré T8
guestion is one to which a member

desire an oral answer in the house and which
is distinguished by an asterisk mark,

A) Unstarred
B) Starred
C) Short notice

D) Long nolice

T m

1
il
L]
1
]

E) None of the above

VZ9 MHNEETT

e B e e ————————— T .
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8. ¥ 2 e (ILO) 1 YAt FEl
ok

A) g B) =i
C) D) T &
E) Ivdsa § & = T&

Where is the headquarters of the Intemational
Labour Organization {ILO) located ?

A) Paris B) Mew York

C) Geneva D) The Hague
E) None of the above

9. 45 Tl 1w § W F1 T IO A 15 8,

Mo g & a7
“A) 3 B) 30

C) 32

E) 374 0 | F1§ A
In a class of 45 students, the rank of Ayush

1S 15 Irom (he lop, then rank of Ayush from
ihe bottom s

D) 35

A) 31 B) 30
C) 32 D) 35
E) None ol the above
She
10, #fifm B ramfi sn 2 2 e
Ay Freh B) aanar
C) 7R #5H D) vHEEn

E) Iw@ 4 & w1d 8
Whal is |he capital of Libya ?
A) Tripoli

C) Por Louis

E) None of the above

mmnm —rewrTrE R EEaEnE

P.T.O.

B) Luxembourg
D) Amsterdam




A) 44

, B) 27

C) a=d D) 594

E) 375 0 | wrf 38

Asian Games ara held once in how many
years 7 :

A} 4 years B) 2 years

C) 3 years D) 5 years

E) None of the ahove

12. UF 8MaF T faii oo =01 0 = o
R Rl o oo RS R R
HETY B R, IR HE AR
A) e
B) i)

) FTaTH]
D) 3HAE
E) I H & w1
OO A social phenomenaon in which a section of

e Ihe society is unable ta fullil even its basic
necessities of life is called as
A} llliteracy
B) Poverty
C) Unemployment
D) Inequality
E) None of the above

13. fava snie sifusw fegm == wm W @ 7
UA} 11 »':Hﬂ@'{
B) 21 7=
C) 8 ¥
D) 150
E) Iva § & % TH
World Consumer Rights Day is observed
on
A) Oclober 11
B) March 21
C) April 8
D) March 15
E) None of lhe above

R e %ﬁﬁq-{_@ﬂﬁiﬁﬂil
H'E%{;zi%ﬁmﬁﬁﬁﬂﬁl

< # wh o P & 7

A) Eir

B) e

C) g
(D) Fuffm =& fmn @ Tl

E) 3= & # F§ T

Mukesh |s taller than Suresh but shorter
I:-EW@ lhan Rakesh. Rakesh is taller than Harlsh.
P bt shorter than Amar. Who amoeng them Is
Ihe shortest ?

A) Harish

B) Mukesh

C) Suresh

D) Cannot be determined

E) None of the above

15, ﬁmaﬂﬁrﬁmiﬁﬁmﬁﬁmﬁﬁzﬁﬂaﬁm
e § T Wi YER W 7
A} s Hifd w== 1952
B) afifres fiia weTE 1948
C) Hraifies ifa v 1950
D) it Hifa W= 1956
E) Juiea ©§ @ F1 6
Which Industrial Policy Resolution gave the

public seclor a slrategic role in the Indian
economy 7

A) Industrial Policy Resolution 1952
B) Industrial Policy Resolution 1948
C) Industrial Policy Resolution 1950
D} Industrial Policy Resolution 1956
E) Nane of the above

VZ9 IR EETTI I

©40

Fr (9. 6. 16 A%, . 20) : Froiferfem sy o
eFgEs AT Hif 3 R fow moaw g
s

pirection (Q. No. 16 to Q. No. 20) ; Sludy the

[ollowing informalion carefully and answer the
questions given below,

-

I 1 A (6 )
1E,muMErHEd Price of the Ff'rnduniu}{ir! Rs)

14,000 —
12,000
10,000
8,000 -

= == Fopy TR uia i orge TF I'E
Cet Phane  Camputes Semar Waich Dining Tabls Bock Fack
-

16. TE 914 3 T & 1 faa A1 42 5.3 3
§ # 3R = 99 F1 WA ywg 4,800 v R |
g (s 4fE GFTEN F W AT W 3T i e
¥ 10% 7T firer R, A geen 2 5 s w
A AT G2 T i |
A) 200 ¥4
B) 100 ¥4
C) 150 %98
D) 250 ¥4
E) 3w 4 § wrd 7
The selling price ol smart walch and book rack
isinthe ralioof 4 : 5 and the cost price of the
smarl walch is Rs. 4, 800. If the shopkeeper

gels the profit of the smart walch is 10% of its
marked price, Ihen find the discounl! offered

[

i

A difam ) _
A) 9,000 7 B) 8,000 %14
L) B,500 #137 D) 7.500 574

E) 374® § & @7 i
Find the average al the marked price of
dining table and book rack.

A} Rs. 9,000 B) Rs. B.0OD
C) Hs. 8,500 D) As. 7.500
E) None of lhe above

18. afe &et §11 & A go9 3 sifE g &1 W
3:4 # 3fn gEEEN g A = 1,200 T
2, M ZHEER AN @ AH ATl g2 7 Wi, |
A) 900 ¥4 B7 800 13
C) 1,000 =74 D) 600 F73
E) T3 | H F1% T8
If the ratio of the cos!t price and marked price
ol the cellphone is 3: 4 and the profit eamed

by the shopkeeper is Rs. 1,200, then find the
discount offered by he shopkeeper.

A} Rs. 900 B} Rs. 800

C) Rs. 1,000 D) RAs. 600

E} None of the above
19. zafm raa = farg geg v sfer g 405
? i-':n:fv;gmawa-ﬁ o591 wM AT B, Al
- ke e G e e ull

A) 6,400 ¥4 BY 6,000 #1

C) 6,200 ¥l D) 6,500 #11

E) 37w T | OH hlE T

The selling price and marked price of the

b}r Ihe shopkeeper on a book rack. E-i‘t:’m. dining lable is 4 ; 5. Il the shopkeeper gels
A) Rs. 200 [E¥%5 the profit of 25%, then find the cost price of
] the dining table.

B) Rs. 100

C) Rs. 150 A) Rs. 6,400 B) Rs. 6,000

D) Rs. 250 C) Rs. 6,200 D) Rs. 6,500

E) None of the above E) None of theabove
VZ9 (M 050 P.T.O.
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A
20. ufz woger T wiieA ge2 9 4 0 8 20%
wfus # W gaen Rl F A g W
1505 1 12 2A1 #, 1 Syt 1w widam 7m

whifam |
A) 3% B) 1%
M-E-T-Eru.-n D} 2%

E) 3% U R w1d T

If the marked price of Ihe computer is 20%
more than ils cosl price and the shopkeeper
offers a discount of 15% on the marked
price of the computer, then find the profit
percentage of the computer.

A) 3% B) 1%

C) 5% D) 2%

E) MNone of Ihe above

21, 291 % TATETY 1 W AW AT A0 T AT

== =1 T, & 3faa el #
A) FT=7 46A B) =22 43A
C) =7 44A D) IT=3e 4BA

E) I7dad W A @13 T

oliD Protection and improvemeanl of environment

El“‘;" and safeguarding of foresls and wildlife of
" 1he country comes under

A) Article 46A B) Aricle 43A
C) Article 44A D) Aricle 4BA .
E) None of the above

22, famg oy el fem 2 7
A) T B) wraqt -
C) 7=za7 D) fasrzm

£) =i i @ wr A
Vijay Stambh is siluated in

23. ﬂﬂmﬁn%ﬂﬂﬁ"“ﬁﬁm——ﬂﬁ
gt i s w0 &
ﬁ‘qﬁq_mqrmﬂiﬁfﬂm%?

A) TTE i
B) fasfra v
€ "l il
D} afnf7s F3
I A 1§ T
y acls as a vehicle for

Which of the [ollowing .
mobilising and {ransterring ths economy s
surplus to the ullimale USers !

A} Man power _

B) Financial inalilutlnuns

C) Govemment policy

D} Commercial centers

E} Mone of lhe above

24, frefrfm 1 @ ke fira T AR |

A) =Tl B) FﬁTE»’I
C) T D) §Fl
E) 3w § @ 15 T
Find the odd one out from Ine following.
A) Silver B} Iron
C) Mercury D) Gold

E) Mone of the above

25, nﬁ.TJﬂﬁﬁmﬁfﬁaﬂﬁi{ﬁmﬁmmﬁmm

feen (frg @) 7

\A) T B) e
C) TR D) EII@
E) 3 # @ w18 TE

% Mahavira attained moksha (became a
%’;ﬁ;smdha} at which of the following places 7

B) Kapilavaslu

26. afa 197atl, 2001 F Hrmaw oy =
a1 feaan, Qﬂﬂﬁﬁ"rma;rquhmﬁ““

A) TTTER
B) guan

C) AR
D) AFER

E) 3w § & T 78

El,fl.@ It 15! January, 2001 was Monday, then
Eﬁ’i whal day of the week was it on
315! December, 2001 7

A) Monday

B) Wednesday

C} Friday

D) Saturday

E) None of the above

27. wmﬁme 1928 1 2
dam o A .

A) fa. fa. frft

|_,..-"E} 3q§'ﬂ ﬂ ﬂ ﬂ-ﬁ"g ?Eﬂ

The Conslitution of India was first drafied by
in 1928,

A} V. V. Gir
B) Mahalma Gandhi
C) Moatilal Nehru

Olas

28. W wigum & fFw =22 F 39N, w9
&1 wrfT wfe weafa @ R w7

A) =17 57 B) ¥q=5e 21
C) 3rT=iz 46 D) ¥ =32 53
E) swiw o # wr§ 7di

As per which Article of the Indian Conslilution
lhe execulive power of Union shall be veste
in the President 7

A) Article 57

C) Article 46

E} None ol the above

29. =% feeeft 1 ammfam 3fzm 3 dsfiew 202
Y U w1 T s o7
A) He TS
B) & 3= fa3 =
C) Tomrer vamemA
D) 21 AWl
E) 3T o § =15 981
Who won the Man's Singles title at the Indi
Open Badminton 2025 held in New Delhi 7
A) Lakshya Sen
B) Lee Cheuk Yiu
C) Viklor Axelsen

D) Kento Momota
E) None of the above

B) Arlicle 21
D) Arlicle 53

30. 51 HF4, 1 =W Al @ IfA @) sren e
®, frm Afew v o g s @ 7

A) arkig B) #MaR

C) TR D) g
E) Imfw o | wi Tl

[ The Purusha Sukla, which explains the

i

: origin of the lour Varnas, is found in which
" Vedic text ?

A) Jodhpur B) Jaipur A) Pavapur D) Rajendra Prasad M Aharva:Veda B) Samaveda
C) Udaipur D) Chittorgarh C) Rajagrina D) Purushapura C) Yajur Veda D) Rig Veda
E) Mone of the above E) None of the above E) None of the above E) None of the above

' 060 vzZg] (e ©70 g

(I

VZ9




91, T & TrE AT wEEE & e
T 3 AT 1980 A THE AW SEER
1 fem o |

A) TR g fTE WA
B) T i T F

C) T TR TR e
D) =R FAA FHTFH
E) ITF W | w3 A4
@& The food for work programme was
E;J"*E;af;'. restructured and renamed as
" from October, 1280.

A) Integrated Rural Developmenl

B} T g
N D) ST @
£) T § § FIS T8 |
The Harappan Civilization belongs 10 which
gl B) Stone Age
g';: ﬁ;n;:: ? D) Palealilhic Aga

E) Mone of the ahove
ﬁéﬂtu.ﬁ.aaﬁu.ﬁ.aal:ﬁﬂﬁfﬁﬁﬂwrfww
mﬂ#ﬁmaﬁzpﬁﬁnmmmmm )
ﬁqﬁ'ﬁaﬁmﬁquﬁﬁﬁaﬂaﬁﬁrﬁﬁlﬁmﬁgm
mﬁﬁﬂmﬁﬁﬂﬁﬂﬁﬂmﬂjmﬁﬁ|

- hE‘
_No. 34 to Q. No. 38) Study 1
Sty carelully and answer the

Sy st 2Lk e
sl 5 127 e 3 3l L
Y = ‘LEF? ' 3 5 <!
G Wft%lmw ey -
ﬁﬁaﬂ%ﬂﬁiﬁﬂﬁmﬁmqﬁ|ﬁﬁ'mj 38. T ZW I9IfEA Fof S, Va0 I
A) 118 B) T a1 Fmam e gt # 7
A) 97% %
e - ]
E) AT e ta
e diff E) Iw{& | & +1% 7F
948 Find th : _orence between the average of a9 |
Rye produced fo that of Qatg Produceq The total crops produced by Roshan is
# |he given farmers together. oy &l dpproximately what percentage of lotal
A) 118 B) 234 €rops produced by Bhargav ?
E) None of the above C) 72% D) 58%

36. 491 TR I 3T wmwet w7

A),658 87574

following information C) 612 B) 758
' tions. = o =
Frogramme given qLIEE_ 1 < A inkatiditier E) &
B) National Rura! Employment The lollowing table show diflaront 3 Ei f
Programme of crops (in quintal) produced by 5 Find the average crops produced by Theja.
G} Rural Empfnymenl Guarantee farmers in a cerlain }’Eal'. ¥ .A] 656 E} 574
Programme o | w | S| W L C) 612
dP Ryn | Mustard | Oats | Sugarcans | Wheal D) 738
D) Employment Generated Frogramme =% == - we E) None of the above
E) None of the above Rosnan | 610|820+ | 340 s
o N i 3 37. Torm formm 3 iwfi o=l wg v s
2. A-TEETE 7 @ 1960 # U HiY w0 amma im"’ w80 | seo | | 10 | 600 \ M B PHE IS ?
fFn g | 78 Afg w am A 1:1:::. oo | geo\| ss0 | 58 \ 850, }i; ",.B:""
fay == @i 5 — GEl
L) T T | an | yes0 || 280 B40 ‘ G20 13’5
B) wm #A w1y Bhargnv - l ) C) ™
C) T 7 Hf A 260 | __;j_’[_-l- | ™ |lew q D) wia
i P e Je e n e
D) FAR 7 A Sdlmﬂﬁlﬁmﬁj—ﬁ—m:@&agﬁﬂﬁ AR Fel T E) Ivdw § & =1 7
T 0 H FI8 F9 Ciic| M | i I .
E) 39T 5 A S E.Hﬂﬁl:'"l = E B) 185+ 113 Which farmer produced thirg lowest number
The India-Pakistan signed a trealy in the ? g] ggg ' ;Ed D) 52: +1? of crops ?
. Th f that treaty was : :
year 1960. The name o y ) .._..E} ER . A) Roshan
A) Indus waters lrealy ] L’i ) d
[ Find Ihe ratio between lotal Mustard produced B) Theja
B) Ganga waters trealy E‘F"}E to that of total Wheat produced by all the A
“ farmers. rabhakar
a
C) Yamuna walers lreaty A) 229 : 175 B) 185: 113 .
D} Brabmaputra walers irealy C) 397 :284 D) 52:17 9
E) MNone of the above E) Mone of the above E) Mone of the above
VZ9 e 080 VZ9 (MERIEm

39.

40.

E) None of the above

92 A T 3p 1 vithrmm (33w o) a5 2
A) 554
C) 75ad

B) 60 =4
D) B0 =i
E) 3vgw § & o315 95
Al what age did the Buddha attain
Parinibbana (final liberation) 7
A) 55 years B) 60 years
C) 75 years D) 80 years
E) None of the above

TF 371 1 9iA S0 qU. w ufen 3 @
'Eﬂ'ﬂﬁﬂfﬁﬁmiﬁlﬁﬁﬁaﬁ% 1" 59 =
AR A mnEEg R 7

A) uri
C) frm

E) sw % & % 7

Introducing a man, a woman said "His mother

is the only daughter of my father”. How is the
man relaled to tlhe woman ?

A) Brother B} Son
C) Father D) Uncle
E) None of the above

&

-BY @
D) =T

090

P.T.O.



41, STamid FIsg=E =1 are
A) 3 31 Pl i =fen aalas 3 A0E 2
B) & i el wfa =@ aEAlad Fa F R
C) @ izn Foi uf safe Frefas 3T Heferd @
D) & o1 form ifir T T A 2
E) Fva 4 A F§ T
153 Meaning of the underdeveloped economy

[a]7755 was

A) Countries in which per capila real
income is high

B) Countries in which per capita real
income is low

C) Counlries in which per capila real
income is balanced

D) Countries in which mass poverty is
ohserved

E) MNone of the above

TSIV & 92T 3TeaA B |

42, WA =
A) TUTTHA B) =M
) ITIT= D) TS

E) TR | | 1§ A
of India is Ex-officio Chairperson
of Rajya Sabha.
A) Prime Minister
C) Vice-Presidenl
E) MNone of the above

B) President
D) Governor

a2 v o ek ) v s R 7

43.
A) TEEN B) AfaaTy
C) ey D) snfer

E) 37 & /1 g T
The Adi Purana, is the hagiography of
which Tirthankara 7

A) Mahavira
C) Parshvanatha

B) Neminatha
D) Adinatha

a4, Fagia 2024 i, T T 3 "S.A.FJ%. {fatﬁﬁ

W‘Eﬁﬂﬁﬁﬂﬂamm} Sl

Fafoion fararm 3 forg At = D G

frard = = 7

A) syedra zam v (Cl) _

B) 3R 3 R HIE H A

C) »m i T A oy

n}ﬂmmﬁmmﬁ"m
(NITI) 3T

E}Eﬁéﬂﬁﬁﬁﬁqﬁ

In Dacember 2024, which organizalion

EI.:;EI Which slage of the DTM sees (he fastesl
AT )

[I¥%% population growth 7

A) Slage 3

B) Stage 1

C) Stage 2

D) Stage 5

E) Mane of the above

E) None of the above

RN

VZ9

©100

pirection (Q. No. 46 10 Q. No, 5
jable show's the number of emp|
grent companies and
male, ratio of the male |
pinance department,

The companies have two different
Finance and Markﬁting.

0): The given
Oyees in fgye
the Percentage of

D female employees in

departments

art tilled “S.A.F.E. - -
;g:?uﬁ:.' E?nl;ngla. Flexible ﬂn_d Efficient) ﬁ.w %ﬁﬁ ﬁ‘ﬁ E"mﬁ'_ﬂﬂ E:r;qqqim
Accommodation : Worker Housing for mf pg '-:-' %l qFE::
Manufacturing Growth™ ? e r-;:;.lhu '-m n;r;h., mﬁﬁ
A) Confederation of Indian Induslry {E.“} employses [empioyces [in Finen :I;mhe
B) Ministry ol Housing and Urban Affairs department |male 1o
C) Ministry of Labour and Employmentl L:;lﬂ 5
D} National Institution for Transforming - lnn.-..?::,
India (NITI) Aayog — e — depariment
N 0% .
E) Mone of the above — D — = :f?
' . 1 . =
45. DTM % fm o & wad it Fae giG el - _E E:EE % P e ar
AR 7 - = o ki 9:5
A) =T 3 y(? 46. ®i FfwEi § qrn wrnfid € i gen
B) =mm 1 -f{,.- R 7 = -
C) T 2 A) 1500
B) 1200
D]?F.“TSH . C) 1400
E}ﬂ'{iﬁﬂ'ﬂﬂﬁ?rrﬁ D) 1300

E) 3947 4 A w1 T4
EL*}LE.I What is the average number of mala
@¥¥% employees in all the companies logelher ?

=

47. =i FuE1 § urRren fEum § g9 Hi wiEe
waiftd] & 919 w7 AR 7
A) 1720
B) 1460
C) 1880
D) fvifm =5 e =1 =01
E) 0 0 7 ¢ T
[Ei 11 Whatis the difference between the male and
@4 female employees in Marketing depariment
in all the companies logether 7
Al 1720
B) 1460
C) 1680
D) Cannot be determined
E) None of the above
48. C ¥ Wiz famt § g&y sa=iiedl w1 5= D
A s T & s d F9 Hen W
& foa gfiea 2 7
A) 53%
C) 50%
E) 371 6 & %75 TA
The number of male employees in Finance
department in C is approximately what
percent of the total number of employees in
Marketing depariment in D ?

A) 53% B) 433%
C) 50% D) 77%
E) None of the above

B) 43%
D) 77%

49. D 7 wrHfen favm & Ffnfed & g ain
Rfeen 1 o1 JEn W@ oI o o2

A) 7:2 B) 4:3

C}E:_1 o D) 8:3

E) 3T R # F1§ 7

Whatis the ratio of the total number of male to

A) 1500 Tﬂmale in Markeling depariment employees
B) 1200 nD?
C) 1400 A T7:2 B) 4:3
D) 1300 C)G:1 C)yB:3
E) None of the above | E) None of the above
VZ9 M o110

P.T.O.



g5 T C
55T fﬁﬁ(b = o= f-%
- e [2.S o o

= — = : i - 87 . t
s0. of el W fanm  sfect wwic 53. v & v - S 56. Frafa & v A nft otk e § e g S g RTm=5000 " & !
# A FEn TR 7 A) T TR i & IR F M A . TR The Total Number of Chairs Manufactured =5
C) 470 D480 st il A) N B) Winded
E) 34w 8 A @ C) dme &1 ) c}:mq-ﬁrﬁﬁ D) 3Ty
Whal is the average number of female D) =fim == 9 E) 3941 1 A =i e
- i [ The ratio of speed of light i

employees in Finance depariment in all the . = % 2 Sp ight In vacuum to the
companies together ? E) 3o 5 & fa¥s speed ol light in a medium is called the

ol the medium.

A) 460 B) 440 Which sea lies to the west of India ? 2; ngﬂtliva index  B) Wavelength
ue :
C) 470 D) 480 A) Red Sea B Nm_‘:le ﬂ:‘:—::’a b D) Amplilude : ali =
E) None of the above N, HeH T 1 1 W T HTRE
.. . o 56. “zar-3 fa af nafe fagr ma o o vionis b
51. 7] U WIAE ATITHRIA & C) Bay of Bengal A) 2022 B) 2018 ' The ratio of the number
ES— T2 C) 2021 - of wheel chairs to office
« - D) South China Sea _ ) 2023 chairs manufactured
A) W=7 348 B) ¥1=Z7 358 E) 39 A A =i =8 70/ January 1
C) 3rq=3z 359 D) ¥3=77 338 E) None of the above Chandrayaan-3 was launched in which WA/ February 7:3
P w s ear 7
E) 394 7 8 5 T 54. FH-H TT1 B ; A5 W48 =17 1} —_— i it HT< /March 4:5
E.;@ iz applicable during external as I C) 2021 D; 2023 3=/ April 1:1
(17X well as internal emergency. A) V43 E) MNone of the above i/ May — 3:2
A) Anicle 348 B) Aricle 358 B) V49 -1 - .
- fem (v. 1.  Farferteg . fa o a0
C) Article 350 D) Adicle 338 ] (5. 8. 579 8. 61) : Pl wwrtt 1 | 57. 4 5 fiifn e Bt 1 on s s
E) Mone af the above C) = gt B : AT & IE | it wrfm S 1 560 =1 59 7
#%ﬁﬂgwﬂréqhmm-mm”tﬁtmaﬁ__. Hifam |
52, Fall 2025 1 FA-m T FFE TR | D) Faaifi = o = w= W, T, A ol of # Rt ghid e sh A) B:9
S e w1 10 a1 Y T 7 -. L mrﬁrmzﬁzrgﬁMﬁSrhamﬁmmaﬁmhﬁ{m B) 5:3
e _— E) 37 T & ®r5 T8I 7 fim mu 2=m = wiw s - aem v i S w5 C) 2:1
o mrasm D) fm chisgrenter: BorVB-17 BRE oo e oeseasmmamtl | 078
) it ol Which is greater : or O} Direction Q. No. 57 to Q. No. 61) : Study the E) 3wdad o B wrf 50
E) 7444 8/ &é A A) VA5 gﬂg’:ﬁﬂ‘i’;”mmam" carefully and answer the e Find the ratio of the number of wheel chairs
Which country officially became the i . J= manulactured in May to the number of office
y The given below pie chart shows the percent NS aha 2 l
10 fun memh;er of the BRICS group in B) Ja9 -1 distribulion of the total number of chairsF:[wr;:; :EE O} c:alrs.manumctured in January,
January 2025 * C) Both are equal office) manufactured in live different maonths i.e. E'.:I 9 j J
A) Indonesia B) Turkey January, February, March, April and May and also t:; g?
| | D} Cannot be determined given lable chart shows the ratio of lhe number of :
C) Saudi Arabia D} Egypt } wheel chairs to office chairs manulactured on five D) 7:8
E) None of the abaye ; E} None of the above different months. E) None of the above
vZa| e 0120 VZ9 I 0130 P.T.0.
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59.

e w

VZ9

B} 40%=
C) 70%
D) 50%
) v & § i A

hairs manufactured
number of affice € ]
:::lh.:pril is what percenlage of the difference

ber of chairs
wween the tatal num :
;Eanu!actured in February and April 7
A} 30%
B) 40%
C) 70%
D) 50%
E) Mone ol the above
uﬁaﬂﬁﬁﬁaa‘rﬁfﬁﬁzﬁﬁw.m&ﬁﬁfﬁﬁ
e i 1 e 1 518 3 ST
& B sEm Fhia & ge T 5 | 7
s o & il el 1 e W T |

A) 480 B) 740
E) T9F o 7 = 7

Fﬁﬂ.mﬁﬁﬁﬁiﬂﬁﬂzﬁﬂ'ﬁﬁﬁ%
ﬁﬁlﬂﬁﬂﬂﬁﬁﬁfﬂ?ﬁfnﬁ%'h?ﬂ
1 e A DR R gy o
5: 42, T 30 e g
T i | &
A) 510

B) 820

C) 690

D) 780

E) 37dma d | T4 TH

Out of the total number of chairs man, ot

in January, 20% of the chairs are unsgyy o
ratio of the number of office chajrg 1o ';'h 3
chairs unsold in January is 5. 4, then i,
number of wheel chairs sold in January Ihs
A) 510
B) 820
C) 690
D) 780

E) MNone of the above

fafia =he e w99 dmm g,
A) 450
B) 550
C) 320
D) 600
~E) 397 4 | &8 T2

#m Find the difference between the number of

if the number of whee! chairs manutaciured | E4E

in June is 5/8" of the number of wheel chairs
manufactured in March and the ratio of the

kﬂyﬁig wheel chairs manufactured in February and
(755 1he number of wheel chairs manufactured in

number of office chairs manufactured in April.

March and Juneis 5: 3, then find the tolal A) 450

number of chairs manufaciured in June, B) 550

A) 480 B) 740 C) 320

C) 550 D) 670 D) 600

E) None of the above E) None of the above
[T ®140
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62.
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i

R
Ol

63.

anfern =1 N @ @ W (0% e 9 =

WETH SSATE 2025 T 8 F1 T i st
frmmm an 7

A) 3fem wrmfaTA w fafaes, e e
B) wifa #zm, 73 faeehi

C) 3f=a rfaez e, =3 feeefi

D) wew fer, My

E) 37w 1 ¥ i T8

Where was the 8" edition of Indusfood Asia’s

premier Food and Beverage (F and B) Trade
Show 2025 organized ?

A) India Exposilion Mart Ltd.,
Grealer Moida

B) Pragali Maidan, New Delhi
C) India Habitat Centre, New Delhi
D) Mahatma Mandir, Gandhinagar

E) None of the above

gar oo |
A) 21 at8e1, 1843

B) 20 ¥U=, 1844

C) 20 33+, 1834

D) 20 371, 1843

E) 3w o & i 78

The Bengal British India Society was
eslablished on

A) 21 April, 1843

B) 20 April, 1844

C) 20 April, 1834

D) 20 April, 1843

E) MNone of the above

64. afz 2904 + 14.5=172 8, d1 20.94 = 1.45=
A) 17.2 B) 0.172

C) 1.72 D) 172

E) Fudwa A & w13 T8

If 2904 = 14.5 = 172, then 29.94 + 1.45 =
A) 17.2 B) 0.172

C) 1.72 D) 172
E) None of the above

65, Tt i enf wwg o1 WA fa T R 7
A) 1839 B) 1893
C) 1894 D) 1983
E) Iwgam | A FIE T
The Parliament of Religions held at
Chicago in which year ?
A) 1839

C) 1894
E) MNone of the above

B) 1893
D) 1983

66. Af2 +4 D wfdd =1 ©= I ©F 3 -10D
TfFa %1 U HaAE @8 UF H § 59 J @l
T #, ufemd e  =n w5l 7
A) +6D
B) +14D
C)-6D
D) 14D
E) 37w 0 @ %13 T8
Il a convex lens of power+4 D and a

Pﬁ% concave lens of power -10 D are placed
[=]

=+ in contact with each other, what will be the
resullant power 7

A) +6D

B) +14D

C)-6D

D) -14D

E) None of the above
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The camel stares fat in its

]

=
e
ra

f

=

A) Fest

B) Legs

C) Stomach
D) Hump

E) None of lhe above

371 (9. 6. 68/ 1. H. 72) : F=iaia mam =
TEET T8 U WO & T AT | :
g;ﬁi:hﬁﬁggﬁiﬁh'ani;mmﬁm%ﬁ
#ru fres ufa T7m ¥ 2 99 EE T 9= =1
a1 # | wem Fams g T B R TR WoE o |

oI e lﬁm’iﬂ‘ﬁi_hi-'**‘f"'q"_"**%l:"

WATE ¥4 # | 3 TER TE 91 5 . IS §F
AR A R A ST R | TE= S
7t 8 U ST 9 FAaEE 9E B S S EeE e
TTEN T, T % A S O e R S T
fvE A A a2 | =8, 5= 55 ==
#1370 § T B, AR = = F s 9 s
RrATa M fmimEsTa s T Es |
M, wh) R ar Ff A w0 End T S |
AIEETS F1 A1 0 e B @ Taem Gea =
4 TR T | el e F A 2en 3o |
AR ] ) 0 AR #9293 0 v |

' qin

—e e

VZ9 HEFTIFIen

mmm%ﬁﬁﬁﬁmﬁﬁmﬁﬁ{%
2, 0 @ 3N @ 1 TEA-H I GHO A f
a1 3= T (A S B 3 IR Wi
¥ TR T S & e < T AU 3 gy,
R 1 gl % 37 A g MO T g gy
3 T 2 | 37 FEA T8 R TR G F 3m A o
& w1 fogm_fren T @ T I A T & g
ﬁﬁ@ﬁﬁﬁﬂhﬁlﬁ?ﬁ@mﬂﬁmiﬁmé@m
S el #T A A o feT 4 TR T T e gy
mqwﬂhﬂﬁiﬂﬂ-ﬂqﬁ, Tl T R 3 Gy
2. T v # fr ar TR 6 B A ae
2 7w will STOU T IETEN R 2w gy
@mmﬁm|ﬁﬁmm%‘ﬁmﬁfﬁmﬁ
ﬂmmmﬁﬂaﬂw;ﬁf EﬂTTrTE-T'Tmﬁm
ST w1 qEAE A7 i A AR w5 s
B R %EEI

AT =z f5 w0 @ W & o oum § em
wHR= oy T fasa i aen 7 )

g8 =t = wus &0l & 3uhl e @ 8

g3 == 3= T T3 Bl &, Ik e
il B
A ETEITTARE
B == r= S H AP |
C == v=ma samfFmam g |
D) FCT=s TR TFTHEI AR |

E) 355¥1 3 | 71§ 7

©160

Emafﬁ&“ﬁﬁﬁmﬁﬂaﬁmﬂqﬁg
ﬁqﬁﬁmﬁﬁmﬁ.mg:ﬁﬁﬁ
%ﬁﬁmwﬁhﬂ%ﬁmﬁ -

EESU e 1

O]
A) F=T

E) 39T 4 A T T
?1.§:ﬁﬁﬂﬂﬁﬁaqﬁ[iﬁﬁanﬁmmmm

B) ¥
D) 7§

T EIAFATR 7
A) b= B) 3@
C) #al D} iy

E) I9F A 4 %8 7

72. ot e & fore A g 5 e o
feelt e 1 aren =4 ¥l @ -

— R
A) TET B) wiu
C) 3R D) IAA

E) 37 i A wrf 7

FEn (v.9.73 A 9.4, 77) : FafEfiem mm @ e
T T W & I A

i wfi-wfl wem € fs 3 G aw s @
wafdm wH & aw off el gfzivim w5
s T FR EHF I A A

T F F aTe TEA: F R A F i
s wry o 3 f 3w g w1 A= wd § A A
T T | =i B e e 91 TR A4 A
it #i, o A A 2 | Fm giEE T T R,
FTC TS § TR T w1 T 6T 3 T T
3 fammm m @ | w9 w0 St T £, A AT
mﬁmﬁc@maﬁmu‘ﬁﬁ&nﬁﬁ | FET
2 | EWT 3@ 6 M1 A A 7R v e faon § 6
&1 o & # | 7 7 @ T it @ 2
ITHT F7 O B AN TG w1 w559 92
T R, T FET R S T e § | WEAE
s =1 a3 oft s & =3 8 3 S =Ear
F ®9 § HigW 8, 98 BAN EwEE T w1 B
2|9 = F A | WEE F TR o g9 |
HTH -39 T 3 - HTT & ZT T RN T ZH
Hegia &1 72 wilt fadmam 2 1 8 T A A oEm
f& 1 Fo T [ 2, 51 $O w9 A 8, I
= fawe € @ | R | TR 5E AW arsHn
B | W T=< R 0 ° gA™ Al defan e
1 AEA T 99 TRl | 90 B UH AR HE A
f ¥0 T AgEfAwn & 39 8 AT s wran
@1 2 | wifererg A wE w fE @ qua ares @ ol
e, W4 7 @ 8 A e

73, 4 T= 1 i # zan )

S
. ﬁﬁﬁiﬂ‘lwﬁﬁrﬁﬂﬁm. FJTEE.HT'{IW- w1 st Tl 5 wa ) E#'E-'
I HE H = W SR WETE T | U8 s wam [a15%
A © A1 EH T SO S, wnd v A) {ant B) afi
o Wz &l R 7 g mim-fagl ) am i C) wfem D) efn
m%~mmqhmqffniiim$WWIﬂ1 E) Imim % 9 = 78
VZ9 [INETmn o170 P.T.O.
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DEE}IE:‘\FTT ==, FEA-A
L‘{;} 4T WL @i |
Er -
A) 7=
B) W
) |
D) ¥R

E) 37557 1 § 1 T4
75. FEEE 7 =40 FE1 4l 7

A) 7T g wigam, snufgsn fage s
TRl 35 A |

. B)7a g =3 f 74 &, §a 74 @@
7 74 |

C) Tezd F A A g R |

D) Tﬁmﬁﬁjﬂﬂma‘rﬁﬁ'ﬂﬂqﬁﬁml

E) I79% § A &3 TA
76. SaFH - T A A 8 7

A) T Zmi wog & e R

B) =i 1 wafdm w3 F amg i v

C) 77T @ T 1
D) @# ¥l AT i i 2 |

E) 7+ § A &13 7

7. a1 - B BT T

i & 7

. \_A) HE= gfa e wfedl 1 @ m g
B) &9 #¢ HAfrge 7 2 |
C) rER g1 I © U B 6HA R |
D) 1 Wi i AT wEGH 8 e g |
E) a7 i § @i 7

78. ‘g %I veer’ g 1 off 6 i
&, e 3 & WE & A T

A) W

—8) ¥4
C) uftzm
D) favam

E) I7d@a @ & F1§ TE

79, i Ferarr e w1 W ol R %:
A) OrEm &

_B) = T 3@
C) ameEl HE

D) a1 w3 = =

E) 35w i & F7é TE

(Vza]  Iwrmnn

©180

a——

B0. "' AT IR R, 36 oy g
A) fam

— %

B) =3
C) =+
_or

E) 394 6 & 9 74

83. ufarz wi frm werd @ =3 =1 ¥ wufe
R 7
AT T 3N Ftfas

B) uni 3 wnfes

C) ¥%¥ 3 =ma

D) T 3 wrE4EE

E) e # @ =T 76

Acids are stored in containers made of
which malerials 7

A) Glass and ceramics

B) Metals and plastic

C) Wood and paper

N0
O e D) Rubber and cardboard
A) HEIETER E) None of the above
B) TETES 84, e § $2 3w vElRwR 6w fams
‘_'_,Gr'ﬁﬁwmm g i 2 7

D} "EHINS o) R
B) zremrd =i

E) 3w # A %15 78 L

. ' D) = nmw foes
82, ‘¥EeA = fEm v 2 £
E) 3w 1l A &1 €
—A) e [=] E] East Indian Assoclation in London was
[:,lj‘y&g founded by

B) 3 A) Madan Mohan Malavia

C) e B) Dadabhai Naoroji
C) Gopala Krishna Gokhale

D) HEM |
D) Bal Gangadhar Tilak

E) 39gF 4 | &I @ E) None of the above

VZ9 I 0190 P.T.O.




B5. Tad Wil 3 3t 1 e o FEd ulé
Eﬁﬁﬁﬁwiﬁﬁﬁﬂﬁﬂ!w%?

_ e e
A) 998 Ji__,__%#
LBy980 yie)
C) 989
D) 990

E) 394 H & 18 7

EI5E The difference between the largest 3 diglt
g% number and smallest 2 digit number is

A) 998

B) 980

C) 988

D) 590

E} Mone of the above

86. IFIIEA BAf F1 GEAEE TE € ?

A) T

B) =&

C) =

D) T

E) IR A & H1§ A&

The headquarter of Anushilan Samili is at
A) Madras

B) Calcutia

C) Bombay
D) Poona

E) None of the above

§7. 15 ==, 2525'*;'#%&%;
v e g @ R et R
A) 5 TTE
B) T T
C) @, T
D) Je@ FiTH
E) 3= A A =13 78

Wha was conferred the Honorary Citizen
Award of Singapore by President Tharman
Shanmugaratnam during a ceremony in
New Delhi on January 15, 2025 7

A) Tarun Das

B) Ratan Tala

C) N. Chandrashekaran
D) Uday Kotak

E) Mone of the above

gB. WA % fenyrem =1 fofen wtr g0 wiew
fapu =3 =1 g R & e ?

/, A) TETITEATE

B) feferem

. C) S & o~
D) &fdm
E) 3ude 1 & +H 7

[ %¥[E Who announced the British Government's
rﬁ';‘é% acceptance of the partition of Indla ?

A) Rajagopalachari

B) Linlithgow

C) Lord Mounibatten

D) Hardinge

E) None of the above

QLR
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- . T 3 ey

A oA 3t fafdy g T
aﬂtmm—afﬁqhqm?mm[mw‘m
A} TR fImaré fafrs

B) WA 3T forvfarsani firfyeg

C) Tﬂﬁqﬁﬁﬁm‘fa-@dl-ﬂ?:rﬁ \

D) e frmard frfigye

On January 5. 2025, two Indigﬂnﬂusl'y

designed and
[ COS18NEC and constrycleg Fag p
22 Vessels (FPVs) alrol
B essels FPvs) -

A} Cochin Shipyarg Limited

B) Mazagon Dock Shipbuilders Limied
C) Garden Reach
Engineers

D) Goa Shipyard Limited
E) None of the above

Shipbuilders ang

90. Emﬁaﬂ:-mmﬂaaﬂ‘mw-ﬁﬁ
FEIH 0TS (H,C0,) 7 2 7
A) FT IEHERES (CO,)
B) g (0,)
C) SZTH (N,)
"'Xm HEHE SIS IS (SO,)
E) 37w § & =1 74
wlhich acidic gas from lhe air dissolves in
rainwater 1o form carbonic acid (H,CO,) 7

A) Carbon dioxide (CO,)
B) Oxygen (Q,)

C) Nitrogen (N,)

D) Sulfur dioxide (80,)
E) None of the above

91. & mfrh wemfa okt w1 100 30 i g
1 g fafa =1 s @1 mn 7
A) 29 e, 2024
B) 15 w9a{l, 2025

C) 25 fem=t, 2024

D) 307471, 2024

E) e i @ % T

Former U,5. President Jimmy Carter passed
away at the age of 100 on which date 7

A) December 29, 2024

B) January 15, 2025

C) December 25, 2024

D) Movember 20, 2024

E) None of the above

- . [s]%
g2. %Hﬁmﬂﬂnwi? ﬂrﬁﬂﬁ
A) 25% 2 )4,\:'%'“

B) 20% /-5
wC) 40%
D) 802

E) 3@ o 8§ &rd 7

2
5 in percent form is

A) 25%
B) 20%
C) 40%
D) B0%

E) None ol the above

VZ9 (rrmen

-

D210

P.T.O.



- a S
93, T fam v T W e R 95, fava & wah o ¢ FA-H R 7
A) WL ) A) i
D), e __B) 377
LIGH
E; Sitfeom C) fafafadt
E) ﬂ-’ﬂ'ﬁﬁ'ﬁﬁﬁrqﬂ D} AT3H
@1*%&E Dekhniis a traditional dance form of which E) 37w A A =I5 78
2 -
%J-W" e The longest river in the world is rdég
A) Madhya Pradesh IS
B) Kerala A) Yanglze
£ Cea B) Amazon
D) Odisha S
E) None of lhe above C) Mississippi
D) Nile

94. g § wyETan Tofam faF@ @eH 2025 F
famm = @1 7
A) Fi-FrF § W e w1 e
B) FATET & WA B I RIEIM T A

EEic)
C) Tafmdi w1 o T W L
qZeATE M

D) sEnTT i i fem e T
E) 37 f A 13 T

What was the theme of lhe
Entrepreneurship Development Conclave

2025 held in Pune ?
A) Building Future Leaders in Agri-Tech.

B) Strengthening Rural Starlups through
Innovation

C) Empowering Entrepreneurs
Transforming Liveslock Economics

D) Livestock Entrepreneurship for a
Sell-Reliant India

E) None of The above

E) None of the above
96, TR WA 1 wEE Hl GiMedl § U R W

fram= i fRER 7

A) TS

B) 3Fomel e

) femmas wem

D) =gt

E) I9ge 1 @ wrf

Kangto is ane of the highest peaks of India

is located in which State ?

A) Nagaland

B) Arunachal Pradesh

C) Himachal Pradesh

D) Manipur

E) Mone of the above

WA E M w gy

A) TIES
_B) e
C) wEfef -
D) =& B
E}Eﬁmﬁélaﬁ@qﬁ

B8 The flower
AT of o
a8 'he Hibiseus plany

Is
A) neuler

B) bisexual
C) unisexug
D) very smal

E) none of the aboye

Which type of rock larmalion is most

commonly associated with low groundwater
storage 7

A) Igneocus and melamorphic rocks
B) Alluvial deposiis

C) Sedimenlary rocks

D) Lil:ﬁﬂﬁlﬂﬂe formations

E) MNone ol the above

99. e fafawm (Fanq) s7iufem, 2023 79
T B3 7
A) 1 3734, 2024
B) 1 a==il, 2024
C) 1 wafi, 2024
D) 597, 2024
E) I7jw 7 & %1 7
When did the Biological Diversity
(Amendment) Act, 2023 come into larce ?

A) 1 April, 2024

B) 1 January, 2024
C) 1 February, 2024
D) 5 June, 2024

E) None of the above

100. 72 x 3K y wE-3091=3 &, A = LOM w1 3 2

~A) xy
B) 1

0y =
y

D) x+vy
E) 39 o ® 1§ T4
Eﬁg I x and y are co-primes, then their LCM is
A xy
B) 1

c) X
y

D) x+vy

E) None of the above
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